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1. Discussion
PRACH repetition interval for TDD 120kHz SCS for for PRACH format A2 and C2
-         Option 1: Define PRACH repetition within 1 slot for fading channel (Huawei, Nokia, Ericsson, China Telecom, ZTE)
-         Option 2: 10 slots for 120kHz SCS (Samsung)
Whether adding AWGN requirements
-         Option 1: Introduce tests for AWGN to reduce the impact of fading channel (China Telecom, Ericsson, Nokia)
-         Option 2: Not to consider AWGN for PRACH repetition test (Huawei, ZTE, Samsung)
 
	CTC
	Fine with the recommended WF to move forward.
For repetition interval, considering views from all BS vendors, option 1 should be the safest way that can be applicable for all BS products.
Our support to include AWGN channel is try to avoid BS with bad repetition implementation but still pass the test due to more time diversity gain. But first of all, I think fading channel should be prioritized for all Demod tests.

	 Samsung
	We still prefer to option 2, use the same intervel as 10 slots for all the format A2, B4, and C2. In our undesrstanding,  RAN4 should define the requirement based on typical scenario, instead of the corner case, can not be supported by all the PRACH configuration index. 
From spec persptive, the number of RO avaiable is depending on the PRACH symbol duration and also the  symbol starting location. In some PRACH configration index., it can not guarantee the number of RO alway equals the number of repetiton . In case with large repetition, it is not possible to support repetition within 1 slot, some interval is still needed. 
From implemention persptive, it is not a typical to change the repettion combination method per PRACH formats, to minimize the hardware change, the combination method should be applied for other PRACH formats, since we have already agreed 10 slots for B4, we think it can be applied for A2 and C2 without implemention change.
From the system performance perspective,  with some interval can allow more UE access the network
To adress the issue of diverse results with different interval,  maybe only AWGN will be introduced for requirement.Meanwhile, it seems that all the vendors provide the results under AWGN, and most of results can be aligned.

	 CTC
	 At least CTC think fading channel model is far more important than AWGN for requirement definition. I suppose companies who have chosen fading channel and drop AWGN in the Feb meeting also have similar views. During the offline discussion this afternoon, I agree we may not need to additionally test AWGN.
As for the interval, I did fully understand why we need to choose a interval that is applicable for all PRACH configurations rather than use the shortest one among all possible indexes. Even with 1 PRACH config, different interval can be supported right?

	 Huawei
	Fine with the recommended WF.
For the AWGN case, based on the simulation results checking, there is still about 2dB gain for the shortest interval, the concern on the bad implementation still can pass the test with more time diversity gain is not needed, so we are ok to focus on the fading test.
We had lots of discussion on the selection of PRACH configuration index for the requirements definition, all companies agree that it depends on the BS implementation, i.e. we can’t mandate a BS vendor to support one certain PRACH configuration index, so it is hard to say which one is typical and which one is corner. What we are trying to do is to select one PRACH index, .i.e. repetition interval, that can used to derive the requirements that can be applicable for all BS vendors supporting possible different PRACH configuration index. Option 1 can meet such purpose. But if we choose Option 2, how does a BS vendor that supports shorter interval than 10 slots with the correct implementation to pass the test?
Different BS vendors may also support different PRACH formats, we can’t conclude that we agree to choose 10 slots for B4, so we should agree 10 slots for PRACH formats A2 and C2, selection of 10 slots for B4 is due to it is the shortest interval among all PRACH configuration index for B4 in the core specification.

	 Nokia
	Whilst we understand the view from Samsung that we might want to have consistency across formats, whereby the RO for B4 means that it needs to be 10 slots (we also note that for FR2 due to beam sweeping it will likely be larger than this in practice, we still hold the view that the minimum requirement should be defined for the case when we have the least time diversity in the fading channels. Thus we believe that for A2 and C2 where the RO allows for the PRACH repetition to be defined within 1 slot (hence it would be possible to configure) the requirement should be derived from this case.
 
We still think that it would be useful to have an AWGN test to provide a fair baseline, removing the impact of time variability in a fading channel; however if the operator in this topic is fine with that we can accept to not consider AWGN tests.
 
Therefore, we are content with the recommended WF.

	 ZTE
	For AWGN channel, like we talked about online, AWGN can be used to align results and reduce the impact from different intervals, because different intervals may have different combination algorithms. However, fading channel is more closer to deployment thanAWGN. If we woud like to make a down selection, we prefer to consider fading channel. 
Regarding the interval for different formats,  we understand that repetion within 1 slot should be the minimum requirement. Considering there are many formats for PRACH, and companies can't support all formats in their product. From testing perspective, minimum requirements maybe a potential method to make sure all vendors can pass the test. We also understand that Samsung's concern for shortest interval. Anyway, all test configurations should not be captured into spec.

	Ericsson
	We are basically fine with WF, but we would like to suggest companies to check the gain by using consecutive repetition within 1 slot compared to Rel-15. Currently, only Huawei deliver results for this configuration. If most of companies results show similar gain, e.g., >2dB, compared to Rel-15, it could be feasible to define requirements based on that. 
We understand the argument from Samsung and Nokia that it might not be typical in network with consecutive repetitions without any interval regarding SSB sweeping and access coverage. But the issue is that we can’t preclude this situation. Based on simulation results, 10 slots interval would have 0.6dB gain for A2 and 1.3dB gain for C2 compared to 1 slot interval, so it seems not a big difference. Of course, companies could check based on their own results. 
As for AWGN, we agree with ZTE that it is still useful for results alignment. We would catch your attention that there is a big span even current in AWGN results. So we still suggest companies deliver results for AWGN in the next meeting no matter for alignment or requirement definition (if agreed).  



Recommended WF:

PRACH repetition interval for TDD 120kHz SCS for for PRACH format A2 and C2
-         Option 1: Define PRACH repetition within 1 slot for fading channel (Huawei, Nokia, Ericsson, China Telecom, ZTE)
-         Option 2: 10 slots for 120kHz SCS (Samsung)
Whether adding AWGN requirements
-       Not to additionally test AWGN.
-       Companies are encouraged to provide AWGN simulation results for simulation result alignment purpose.
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